
 

 

Př. 1: Uprav pomocí součtových vzorců:  

(13𝑥 + 2𝑦)2 = 169𝑥2 + 52𝑥𝑦+4𝑦2 
(7𝑐 + 9ℎ)2 =  49𝑐2 + 126𝑐ℎ+81ℎ2 

(4𝑡 + 𝑢𝑠)2 =  16𝑡2 + 8𝑡𝑢𝑠+𝑢2𝑠2 
(1,7𝑝 + 7,1𝑞)2 =  2,89𝑝2 + 24,14𝑝𝑞+50,41𝑞2 
(8 − 𝑝𝑞𝑟)2 = 64 − 16𝑝𝑞𝑟+𝑝2𝑞2𝑟2  

(𝑥𝑦𝑧 + 2)2 =  𝑥2𝑦2𝑧2 + 4𝑥𝑦𝑧 + 4 

Př. 2: Uprav: 

𝑐2 − 4𝑐𝑑+4𝑑2 = (𝑐 − 2𝑑)2 

25 − 10𝑘 + 𝑘2 = (5 − 𝑘)2 

4𝑎2 − 12𝑎𝑠+9𝑠2 = (2𝑎 − 3𝑠)2 

100ℎ2 − 20ℎ𝑗+𝑗2 = (10ℎ − 𝑗)2 

1,44𝑥2−2,4𝑥𝑦 + 𝑦2 = (1,2𝑥 − 𝑦)2 

25𝑝2−60𝑝𝑖 + 36𝑖2 = (5𝑝 − 6𝑖)2 

9𝑘2−12𝑘𝑙 + 4𝑙2 = (3𝑘 − 2𝑙)2 

49𝑤2−42𝑤𝑣 + 9𝑣2 = (7𝑤 − 3𝑣)2 

16𝑧2−56𝑧𝑢 + 49𝑢2 = (4𝑧 − 7𝑢)2 

𝑟2𝑠2−2𝑟𝑠𝑡 + 𝑡2=(𝑟𝑠 − 𝑡)2 

 

 

 

 

 

 

 

 

 

 


